
 

 

 

 

 

 

 

 

 

練習１ 計算しましょう。 

① 
4

1
×3＝

4

31×
 

＝
4

3
 

② 
9

4
×2＝

9

24×
 

＝
9

8
 

③ 
5

2
×4＝

5

42×
 

＝
5

8
 

④ 
6

5
×3＝

62

315×
 

＝
2

5
 

⑤ 
15

4
×5＝

153

514×
 

＝
3

4
 

⑥ 
2

3
×6＝

21

633×
 

＝
1

9
 

＝９ 

⑦ 
9

4
÷5＝

59

4

×
 

＝
45

4
 

⑧ 
6

1
÷2＝

26

1

×
 

＝
12

1
 

⑨ 
8

5
÷8＝

88

5

×
 

＝
64

5
 

 

⑩ 
7

6
÷3＝

317

62

×
 

＝
7

2
 

⑪ 
2

3
÷3＝

312

31

×
 

＝
2

1
 

⑫ 
2

9
÷3＝

312

93

×
 

    ＝
2

3
 

分数×整数                分数÷整数 

○

△
×□＝

○

□△×
             

○

△
÷□＝

□○

△

×
 

分数と整数のかけ算、わり算 

       年   組   番 名前          

学習日     月     日 


